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Six persons J, L, R, O, X, Z of a family born 
in six different years 1978, 1982, 1995, 
1997, 2013 and 2015. (All the ages of the 
given persons have been calculated on 
base year 2018 and all the persons are 
considered to be born on same date of 
same month). There is a difference of 18 
years between the ages of O and J. O is 
the father of J. L is younger than R. X is 
not the oldest person of the family. R is 
not married to Z. Z was born in an even 
numbered year. L is the only 
granddaughter of the mother of O. Father 
of O is 4 years older than O’s mother. J is 
the son of R.

अलग-अलगअलग-अलगसाल 1978, 1982, 
1995, 1997, 2013 और 2015 में एक पररवार के
साथ संक्रममत जे, एल, आर, ओ, एक्स, जेड।
(कम सेकमआयु वालेव्यक्तिकी गणना वर्ष

2018 के मिसाब से िी करें )। O और J कीआयु
के बीच 18 वर्ष का अंतर िै। िे, जमू्मका मपता

िै। एल, आर से छोटा िै। एक्सपररवार का

सबसे बडाव्यक्ति िै।आर, जेड मववामित िै। Z 
का जन्म संख्या वर्ष में आया था। एल, ओकी

माता की इकलौती पोती िै।ओ के मपता, ओकी

माता से 4 वर्ष बडे िैं। जे, आरका िै।
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How is L related to X? (a)grand father (b) grand mother (c) 
grand daughter (d) grand son (e) none of these

Who among the following born in 1982? (a) O (b) R (c) X 
(d) J (e) L

R was born in which of the following year? (a) 1997 (b) 
2015 (c) 2013 (d) 1982 (e) None of these

How is R related to Z? (a) Daughter-in-law (b) mother (c) 
aunt (d) Daughter (e) none of these

Four of the five are alike in a certain way and hence form a 
group, which among the following does not belong to the 
group? (a) O (b) R (c) X (d) J (e) L
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Ten people are seating on two parallel rows. P, Q, R, S and 
T are seating in row 1 and facing towards south. A, B, C, D 
and E are seating in row 2 and facing north. They like 
different Colors- pink, blue, black, yellow and orange. Two 
persons like same color such that one of them is in row 1 
and the other is in row 2(i.e. both the persons who like 
Pink colour sit in different rows) R sits second from one of 
the ends. The one who sits immediate right of R faces C. P 
sits right to T but not immediate right. The number of 
persons sitting to the left of C is same as the number of 
persons sitting to the right of T. D faces the one who likes 
yellow. The one who likes pink in row 1 faces the one who 
sits 2nd to the left of the one who likes pink in row 2. Only 
one person sit between S and the one who likes orange. 
The one who likes black sits 3rd to the left of the one who 
likes pink in row 2. More than two person sits between D 
and A. E does not like pink. C likes yellow. R does not like 
orange and pink. S faces the one who likes blue. The one 
who likes yellow sits immediate left to R. P does not like 
black.

दो समानांतर पंक्तियो ं पर दसव्यक्ति बैठे िैं। P, Q, R, S और
T पंक्ति 1 में बैठे िैं और दमिणकीओर उनु्मख िैं। A, B, C, D 
और E पंक्ति 2 में उत्तर कीओर उनु्मख िोकर बैठे िैं। उन्हें
मवमिन्न रंग पसंद िैं- गुलाबी, नीला, काला, पीलाऔर नारंगी।
दो व्यक्तिसमान रंग पसंद करते िैं जैसे उनमें से एक पंक्ति 1 
में िै और दूसरा पंक्ति 2 में िै (अथाषत गुलाबी रंग पसंद करने
वाले दोनो ंव्यक्तिअलग-अलग पंक्तियोंमें बैठते िैं) R मकसी
एकछोर से दूसरे स्थान पर बैठता िै। विव्यक्तिजो R के
ठीक दायें बैठा िै, उसका मुख C कीओर िै। P, T के दायें बैठा
िै लेमकन ठीक दायें निी ं बैठा िै। C के बाईंओर बैठे व्यक्तियों

की संख्या T के दाईंओर बैठे व्यक्तियोंकी संख्या के समान

िै। D का मुख पीला रंग पसंद करने वाले व्यक्तिकीओर िै।

विव्यक्ति मजसे पंक्ति 1 में गुलाबी रंग पसंद िै, उसव्यक्ति के

सामने बैठा िै जो पंक्ति 2 में गुलाबी रंग पसंद करने वाले
व्यक्ति के बाएं से दूसरे स्थान पर बैठा िै। S औरनारंगी पसंद
करने वाले के बीच केवल एकव्यक्ति बैठा िै। काला रंग पसंद

करने वाला व्यक्ति पंक्ति 2 में गुलाबी रंग पसंद करने वाले
व्यक्ति के बाएं से तीसरे स्थान पर बैठा िै। D और A के मध्य
दो से अमिकव्यक्ति बैठे िैं। E को गुलाबी रंग पसंद निी ं िै। C 
को पीला रंग पसंद िै। R को नारंगीऔर गुलाबी रंग पसंद
निी ं िै। S का मुख नीला रंग पसंद करने वाले व्यक्तिकीओर

िै। विव्यक्ति मजसे पीला रंग पसंद िै वि R के ठीक बाएं बैठा
िै। P कोकाला रंग पसंद निी ं िै।
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Who among the following likes blue in row 1? (a) P (b) Q (c) R (d) 
S (e) none of these

How many persons sit between E and the one who likes black? 
(a) Two (b) One (c) Three (d) Four (e) None

Which of the following statement is true regarding S? (a) E faces 
S (b) A likes same color as S (c) D faces S (d) B sits 3rd left to the 
one who faces S (e) none of these

Which of the following color is liked by R? (a) blue (b) black (c) 
orange (d) yellow (e) none of these
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Input: warmer 76 94 scraper locker 11 greater 52 39 adopter
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How many steps would be needed to complete the 
arrangement? (a) IV (b) V (c) VII (d) VI (e) None of these 

What will the addition of the numbers which is third from 
the right end in step II and 2nd from the right end in step 
IV? (a) 112 (b) 210 (c) 151 (d) 116 (e) None of these 

Which of the following would be the difference of the 
numbers which is 3rd from left end in step IV and 2nd 
from right end in Step II? (a) 90 (b) 83 (c) 25 (d) 10 (e) 
None of these 

Which of the following element will be 6th to the left of 
3rd from the right end in step V? (a) 95 (b) adopt (c) 40 (d) 
scrap (e) None of these 
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Statement- Thousands of farmers in drought-hit 
western Madhya Pradesh have been protesting 
for over a week demanding that authorities 
increase the minimum price for their crops and 
waive their bank loans. Madhya Pradesh is one 
of several states that have suffered droughts and 
crop failures in recent years.  Which of the 
following courses of action will help to improve 
the current scenario? 
(i) Government should punish those involved in 

the protests. 
(ii) Cloud seeding should be used in such 
situations. 
(iii) Government should constitute a team to 
assess the severity of drought and convince that 
appropriate compensation will be paid

(a) Only (i) (b) Both (i) and (ii) (c) Only (iii) 
(d) Both (ii) and (iii) (e) None of these
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कथन- सूखा प्रिामवत पमिमी मध्य प्रदेश में िजारो ं मकसान एक

सप्ताि से अमिकसमय से मवरोि प्रदशषन कर रिे िैं और मांग कर

रिे िैं मक अमिकारी उनकी फसलोंका नू्यनतम मूल्यबढा दें और

उनके बैंकऋणमाफकर दें। मध्य प्रदेश उनकई राज्ोंमें से एक िै

जो िाल के वर्ों में सूखेऔरफसलखराब िोने का सामना कर रिे

िैं। मनम्नमलक्तखत में से कौन सी कारषवाई वतषमान पररदृश्यको

सुिारने में मददकरेगी?
(i)सरकार को मवरोि प्रदशषन में शाममल लोगो ंको दंमडतकरना
चामिए।

(ii) ऐसी क्तस्थमतयो ं में क्लाउड सीमडंग का उपयोग करना चामिए।

(iii) सरकार को सूखे की गंिीरता काआकलनकरने के मलए एक
टीमका गठनकरना चामिएऔर यि मवश्वास मदलाना चामिए मक

उमचत मुआवजे का िुगतान मकया जाएगा
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Statement- Drinking in moderation can help 
our health, some research has showed. 
Many doctors recommend a glass of wine or 
beer a night as part of diet plans such as the 
Mediterranean diet and the DASH diet, 
which have been proven to keep your heart 
and brain healthy. However, a new study 
suggests that even moderate drinking may 
not be great for your brain. 
Which of the following can be deduced from 
the above statement? 
(i) Scientific researches can contradict at 

times. 
(ii) Moderate intake of wine is less harmful 
than cigarette. 
(iii) Something which is not good for brain 
does not mean it cannot be healthy. 

कथन-कममात्रा में पीने से िमारेस्वास्थ्यमें मदद ममल

सकती िै, कुछ शोिो ं से पता चला िै। कई डॉक्टर

िूमध्यआिारऔर डीएएसएचआिार जैसेआिार

योजनाओं के मिसे्स केरूप में रात में एक मगलास वाइन

या मबयर की सलाि देते िैं, जोआपके मदलऔर
मक्तिष्ककोस्वस्थ रखने के मलए मसद्ध हुए िैं। िालांमक, 
एक नएअध्ययन से पता चलता िै मक मध्यमशराब

पीना िीआपके मदमाग के मलएअच्छा निी ंिो सकता

िै।

उपरोिकथन से मनम्नमलक्तखत में से कौन सा मनष्कर्ष

मनकाला जा सकता िै?
(i)वैज्ञामनकशोिकई बार मवरोिािासी िो सकते िैं।
(ii) मध्यमशराबका सेवन मसगरेटकी तुलना में कम
िामनकारक िै।

(iii) कुछ जो मदमाग के मलए अच्छा निी ं िै इसका मतलब

यि निी ं िै मक विस्वस्थ निी ंिो सकता।
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From which of the following statements it can be 
determined that how many persons definitely attend 
meeting before D (starting from Monday to 
Saturday)? 
(a) F attend meeting on Wednesday. Only one attend 

between D and F. Only two persons attend 
between B and C. 

(b) Only three persons attend between A and E, who 
attend after Wednesday. Only two persons attend 
between E and D. B attend just after D. 
(c) No one attend between C and F. B attend on 
Saturday. Only two persons attend between F and B. 
D attend on one of the days before C. 
(d) A attend on Thursday. Only two persons attend 
between C and A. Only three persons attend 
between B and D, who attend after A. 
(e) Cannot be determined from any of the 
statements.

मनम्नमलक्तखत में से मकसकथन से यि मनिाषररत मकया जा

सकता िै मक D (सोमवार से शमनवार तक) से पिले मकतने
व्यक्ति मनमितरूप से बैठकमें शाममल िोते िैं?
(a)F बुिवार को बैठक में िाग लेता िै। D और F के बीच
केवल एकव्यक्तिउपक्तस्थत िोता िै। B और C के बीच
केवल दोव्यक्तिउपक्तस्थत िोते िैं।

(बी) केवल तीनव्यक्तिएऔर ई के बीच उपक्तस्थत िोते िैं, 
जो बुिवार के बाद उपक्तस्थत िोते िैं। E और D के मध्य
केवल दोव्यक्तिउपक्तस्थत िोते िैं। B, D के ठीक बाद
उपक्तस्थत िोता िै।

(सी) सीऔर एफ के बीचकोई िी उपक्तस्थत निी ंिोता िै।
बी शमनवार को उपक्तस्थत िोता िै। F और B के बीच केवल
दोव्यक्तिउपक्तस्थत िोते िैं। D, C से एक मदन पिले
उपक्तस्थत िोता िै।

(d) A गुरुवार को उपक्तस्थत िोता िै। C और A के बीच केवल
दोव्यक्तिउपक्तस्थत िोते िैं। B और D के बीच केवल तीन
व्यक्तिउपक्तस्थत िोते िैं, जो A के बाद उपक्तस्थत िोते िैं।
(ई) मकसी िी कथन से मनिाषररत निी ं मकया जा सकता िै।
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What is the distance between L and P? (a) 29m 
(b) 39m (c) 30m (d) 40m (e) None of these

What is the shortest distance and direction of Y 
with respect to E? (a) 49m, South (b) 55m, West 
(c) 53m, North (d) 45m, East (e) None of these
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(i) P & Q means P is the brother Q. 
(ii) P % Q means P is the father of Q. 
(iii) P * Q means P is the sister of Q. 
(iv) P @ Q means P is the Son of Q. 
(v) P $ Q means P is the daughter Q. 
(vi) P ? Q means P is the mother of Q

In expression Q&G, G&A%C&D?E*F@H@R, then, how is F related to A? (a) 
Son (b) Grandson (c) Granddaughter (d) Either (b) or (c) (e) Either (a) or (b)

In expression Q?P, P&A%W&D?E*F@H@R, then, how is Q related to the 
E’s mother? (a) Maternal Grandfather (b) Paternal Grandfather (c) 
Paternal Grandmother (d) Maternal Grandmother (e) Either (a) or (c)
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